Math 185 — Quiz #2
November 2, 2007

Instructors: Patricia Wrean & Bogdan Verjinschi

Name: 501 UHon Set

Total: 40 points
1. State the values of x for which the functions below are continuous.
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2. Evaluate the following limit. Show your work.
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3. Calculate the slope of the line tangent to the following curve at x = 10. Show your
work. (3 points)
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4. Using the definition of derivative, find the derivatives of the functions below with
respect to x. Show your work.
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c) For what values of x is the function f{x) in part (b) differentiable?
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5. Consider the curve given by the function f(x)=

. For what values of x (if any)

x*+9
does the curve have a horizontal tangent line? (4 points)
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6. Calculate the instantaneous velocity at ¢ = 2 seconds for an object moving with the
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following function for the displacement (s is in metres). (4 points)
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7. Find the slope of the line tangent to the curve of 2 ¥’ +xy+1=0 at the point (-3,1).
(4 points)
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8. Calculate the following derivative with respect to x. To receive full marks, write as a
single fraction and simplify fully. (4 points)
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9. A drop of water in the shape of a hemisphere (half of a sphere) is sitting on a flat
counter as in the diagram below. As the water in the drop evaporates, the radius r of

the drop changes. Find the instantaneous rate of change %K for the volume V of the
I

dA
drop and also the rate of change & for the total surface area A. Then evaluate these

r
rates of change for » = 1 mm. You may leave your answer in terms of 7. (6 points)
—
\/591’\% = %/3 7T {“g Asphgr,e_, = M
2 . Y
s ¢ bera .
V}@a’:'?ﬂkm@ & - r 3 A‘M%{)M; /&{E‘I £4 [) “+ 41 r
v 2 9 ’{"
Condh- £ish
P
AV . 2 3ar e
'Se 3
= 3702
= QT *
AV N A 3w (0
oy T vm ’;L" -
al Pl ‘
N
!
& aler —
CCP‘A‘C;Q ; Z@“ = UIT mm
y;wh"} Okr = iVV\rvi

v

as ol




